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[[=Liva K % NET HDCP TOTAL ouT IN OUT NET =2 K 4 NET HDCP TOTAL ouT IN OUT NET

B B NLHA 66.0 30.0 96 ( 51 45 ) 36.0 BB BKkRE 63.0 29.0 92 ( 44 48 ) 295
26 BFELR 67.0 15.0 82 ( M4 41 ) 335 261 &% BE 65.0 16.0 81 (39 42 ) 310
3 BHA =R 67.0 15.0 82 ( 43 39 ) 355 3G LUE R 65.0 20.0 85 ( 4 44 ) 310
A R BFE 68.0 16.0 84 ( 42 42 ) 34.0 AR K X 65.0 18.0 83 ( 42 41 ) 330
561 EWM B= 69.0 15.0 84 (42 42 ) 34.5 51 kR FE 65.0 11.0 76 (39 37 ) 335
66 MR 5 69.0 14.0 83 ( 42 41 ) 35.0 6hr Bk R 66.0 16.0 82 ( 42 40 ) 340
Th  RIE FORE 69.0 22.0 91 ( 47 44 ) 36.0 M HEHEEZ 67.0 21.0 88 ( 42 46 ) 315
8fir % 1587 690 150 84 ( 45 39 ) 375 8 AL 58 67.0 7.0 74 (3 38 ) 325
9L LK EfE 69.0 12.0 81 ( 44 37 ) 38.0 9 FAXR BHEX 67.0 20.0 87 ( 44 43 ) 340
1062 UM 481 70.0 4.0 74 (32 42 ) 30.0 1062 kM BEE 67.0 20.0 87 (44 43 ) 340
16 HBZE 70.0 16.0 86 ( 42 44 ) 34.0 1 I $E— 67.0 29.0 96 (50 46 ) 355
126 ER B4 70.0 18.0 88 (43 45 ) 34.0 1260 F& 68.0 18.0 86 ( M 45 ) 320
136 /B E® 70.0 13.0 83 (41 42 ) 345 1362 IUHE & 68.0 15.0 83 (41 42 ) 335
1401 % B4R 70.0 16.0 86 (43 43 ) 35.0 140 AK R 68.0 20.0 88 (46 42 ) 360
1561  FEH B 71.0 30.0 101 (50 51 ) 35.0 1561 BBl ERTF 69.0 30.0 99 (48 51 ) 330
166 FEAE &4 720 100 82 (43 39 ) 380 166 B = 690 230 92 (46 46 ) 345
1761 #LE FBH 73.0 30.0 103 (50 53 ) 35.0 1761 il Big 69.0 16.0 85 (43 42 ) 350
186 st EAT 730 100 83 (41 42 ) 360 186 K Rk 690 200 89 (46 43 ) 360
196 BKST HE 73.0 5.0 78 (39 39 ) 365 190 EE =— 690 180 87 (45 42 ) 360
206 BA WE 73.0 14.0 87 (45 42 ) 38.0 2006 fk1R #BF 69.0 30.0 99 (51 48 ) 36.0
2507 TR HE 740 200 94 (48 46 ) 380 250 AR E= 700 160 86 (44 42 ) 360
30f7  AHE ML 76.0 5.0 81 (41 40 ) 385 30 Rk Mk 700 120 82 (44 38 ) 380
3501 NEE 3 780 170 95 (48 47 ) 395 350 EA EA 710 190 90 (49 41 ) 395
406~ BE 810 240 105 ( 59 46 ) 470 4061 HHE EE 720 170 89 ( 46 43 ) 375
45hr IR BT 850 230 108 ( 55 53 ) 435 45f  BEA BAIE 720 110 83 (44 39 ) 385
5061 LA B 730 190 92 (Bl 41 ) 415
60h 35 WK 750 150 90 (49 41 ) 415
706 FEiE E= 830 100 93 (46 47 ) 410
BBY ®E #th 930 300 123 ( 58 85 ) 430 BBY &K% =% 870 300 117 ( 61 56 ) 460
BGE #fL ¥ 74 ( 3 38 ) Par 72 A—AL—k  RA=TL—h

B4(E) 6,606 yard 71.3 128

B(H) 6,237 yard 69.5 123

B(&) 5892  yard 68.1 119

BE(R) 5281 yard 64.9 114

Z(IR) 5281  vyard 70.1 123

#5185 yard 69.5 123




